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РУС ТИЛИ

1. В каких словосочетаниях прилагательные употребляются
в прямом значении?
A)  Глухой  старик,  жаркий  день,  пикантная  внешность,
железная воля, прямая линия.
B)  Глухой  старик,  жаркий  день,  пикантный  соус,
железная дорога, прямая линия.
C)  Глухой  старик,  жаркий  день,  пикантный  соус,
железная дорога, прямой человек.
D)  Глухая  улица,  жаркий  бой,  пикантная  внешность,
железная воля, прямой человек.

2. Укажите слово, в котором звуков больше, чем букв.
A) Ящик.     B) Земля.     C) Голова.     D) Ветер.

3. Что такое неологизмы?
A) Вышедшие из активного живого употребления.
B) Слова, противоположные по значению.
C)  Слова,  которые  служат  для  обозначения  новых
понятий.
D) Имеющие единое целостное значение.

4. Укажите  слово  с  безударной  гласной  в  корне,
проверяемой ударением.
A) Эксп…нат.     B) Об…яние.
C) Обн…жать.     D) К…бура.

5. Определите вариант с неологизмами.
A) Ветрило, большевик     B) Пиит, рыбарь
C) Толерантность, видеобум     D) Колхоз, чекист

6. Укажите синоним к фразеологизму «рукой подать»
A) Сесть в калошу.     B) Заблудиться в трех соснах.
C) С гулькин нос.     D) Под самым носом.

7. Укажите синоним к фразеологизму «за тридевять земель»
A) Брать на арапа.     B) Как в аптеке.
C) На краю света.     D) Во всю Ивановскую.

8. Произведение  Н.В.Гоголя  "Вечера  на  хуторе  близ
Диканьки" получило много лестных отзывов,  но  один  из
них  был  особенно  дорог  автору:  "Сейчас  прочел  Вечера
близ  Диканьки.  Они  изумили  меня.  Вот  настоящая
веселость,  искренняя,  непринужденная,  без  жеманства,
без чопорности ..."
Кому принадлежит этот отзыв?
A) А.С.Пушкину.     B) Н.А.Некрасову.
C) Л.Н.Толстому.     D) В.Г.Белинскому.

9. Укажите  слово,  образованное  по  модели:  приставка-
приставка-корень-суффикс-суффикс-окончание
A) Продавец.     B) Преподаватель.
C) Зазнайство.     D) Выслушать.

10. Укажите значение фразеологизма «куда глаза глядят»
A) Исчезнуть.     B) Зазнаваться.
C) Не слушаться.     D) Неизвестно (куда).

11. 0 ком из героев поэмы "Мертвые души" автор пишет:
"Ни  на  одном  собрании,  где  он  был,  не  обходилось  без
истории.  Какая-нибудь  история  непременно
происходила:  или  выведут  его  под  руки  из  зала
жандармы,  или  вынуждены  бывают  вытолкать  свои  же
приятели".
A) Манилове     B) Ноздрёве.
C) Собакевиче.     D) Плюшкине.

12. Укажите синонимы к слову надежный
A) Верный, умный.
B) Преданный, верный.
C) Неутомимый, упорный.
D) Терпеливый, дружественный.

13. Он  был  поэтом-гражданином,  поэтом-борцом.  Герои  его
произведений призывали сражаться за "святую праотцев
свободу  и  древние  права  граждан".  Он  не  побоялся
бросить  вызов  всесильному  Аракчееву  -  любимому
министру Александра I, назвал его "неистовым тираном"
родной страны.
Назовите имя этого поэта.
A) К.Ф.Рылеев.     B) М.Ю.Лермонтов.
C) А.С.Пушкин.     D) А.С.Грибоедов.

14. Укажите буквы, которые не обозначают звуков.
A) ю, я.     B) ш, щ.     C) е,ё.     D) ь, ъ.

15. Укажите значение фразеологизма «отбиться от рук»
A) Зазнаваться.     B) Исчезнуть.
C) Не задумываться.     D) Не слушаться.

16. В каком произведении И.Бунина звучит суд над моралью
взрослых  фальшивых  людей,  погубивших  прелестное,
искреннее молодое существо?
A) "Господин из Сан-Франциско".     B) "Новая дорога".
C) "Легкое дыхание".     D) "Листопад".

17. Не имеет пары по глухости и звонкости звук.
A) [х].     B) [г].     C) [п].     D) [б].

18. Укажите слово, образованное сложением звуков
A) Зампред.     B) ВДНХ.     C) ГАИ.     D) СНГ.

19. Укажите строку, где слова только с глухими звуками.
A) Сопка, заводь.     B) Шорох, шум.
C) Шёпот, шаг.     D) Стена, роман.

20. Корень - это
A)  Изменяемая  значимая  часть  слова,  которая  образует
форму слова и служит для связи слов.
B)  Главная  значимая  часть  слова,  в  которой  заключено
общее лексическое значение всех однокоренных слов.
C) Значимая часть слова, которая находится после корня
и служит для образования слов.
D)  Значимая  часть  слова,  которая  служит  для
образования слов.

21. Твердый [д] произносится в слове
A) Складка.     B) Выход.
C) Одевать.     D) Отбой.

22. К синонимам слова «метель» нельзя отнести
A) Пурга.     B) Смерч.     C) Буран.     D) Вьюга.

23. Укажите  слово,  образованное  по  модели:  приставка-
корень-суффикс-суффикс-суффикс-окончание
A) Отметка.     B) Замечательный.
C) Разметка.     D) Отметить.

24. Из  какой  главы  книги  "Путешествие  из  Петербурга  в
Москву" А.Н.Радищева эти строки:
"Жестокосердный  помещик!  ...Ты  собираешь  и  то,  что
тебе не надобно, несмотря на то, что неприкрытая нагота
твоих крестьян тебе в обвинение будет".
A) "Торжок".     B) "Пешки".
C) "Валдай".     D) "Черная грязь".

25. Укажите слово,  в корне которого  нужно  вставить  букву -
О-.
A) П…лисадник.     B) К…литка.
C) Свет…фор.     D) К...рьер.

26. Укажите  фразеологизм  с  речевой  ошибкой  (замена
одного слова другим)
A) Уморить червячка.     B) Сматывать удочки.
C) Вешать нос.     D) Волком выть.

27. Укажите  вариант написания  существительных с  одной  -
Н-.
A) Моше…ик, ко…ица.     B) Варе…ик, гости…ая.
C) Изгна…ик, таможе...ик.     D) Имени…ик, пле…ик.
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28. Укажите  слово  с  непроверяемой  безударной  гласной  в
корне.
A) Творение.     B) Традиция.
C) Держава.     D) Граница.

29. В  слове  можно  проверить  безударную  гласную  в  корне
ударением
A) Разр…дить ружьё.     B) Имя прил…гательное.
C) Заг…релые лица.     D) Сж…гать мусор.

30. Слова с иноязычными приставками
A) Отрезать, подсматривать, перешагнуть.
B) Аморальный, интернациональный, импорт.
C) Надрезать, обмакнуть, переправить.
D) Переплыть, осмотреть, отрубить.

МАТЕМАТИКА

31. Одна сторона треугольника x(x > 12)  см,  которая на 7 см
меньше,  а  третья  на  5  см  больше  первой.  Найдите
периметр (см.) этого треугольника.
A) 3x – 2     B) 3x + 1     C) 3x – 1     D) 3x + 2

32. Найдите | x – y |, если 19 yx  и 90xy
A) 181     B) 19     C) 178     D) 17

33. В  конус,  осевое  сечение  которого  –  равносторонний
треугольник,  вписана  сфера  с  диаметром  D.  Найдите
площадь полной поверхности конуса.

A) 2

4
9 D      B) 2

4
3 D      C) 2

2
5 D      D) 2

4
5 D

34. Найдите  длину  медианы  BD,  в  треугольнике  с
вершинами в точках A(4; 5; 1), B(2; 3; 0) и C(2; –1; –3).
A) 2     B) 3      C) 1     D) 2

35. При каких значениях a парабола y = 9x
2 

– 12x+35a имеет
с осью абсцисс две общие точки?

A) 35
18

a      B) 35
4

a      C) 35
4

a      D) 35
4

a

36. Между  числами  –17  и  –7  вставьте  4  числа  так,  чтобы
вместе  с  данными  числами  они  составили
арифметическую прогрессию.
A) –13; –11; –9; –7     B) –16; –14; –12; –10
C) –14; –12; –10; –8     D) –15; –13; –11; –9

37. На сколько корень уравнения 4 5,1
3
2









x

 меньше 1?

A) 1,75     B) 0,75     C) 1,25     D) 1,5

38. Найдите  сумму  корней  уравнения
3sin3cossincos4 22  xxxx , если  18090 x .

A) 135°     B) 225°     C) 210°     D) 150°

39. Боковое  ребро  наклонной  призмы  равно  20  и  составляет
угол  30°  с  плоскостью  основания.  Найдите  высоту
призмы.
A) 10     B) 210      C) 310      D) 12

40. В выпуклом пятиугольника два внутренних угла прямые,

остальные  относятся  между  собой  как  7
43:3:2 .  Найдите

больший угол пятиугольника.
A) 150°     B) 120°     C) 90°     D) 110°

41. Угол  между  наклонной  и  перпендикуляром  равен

25
24arcsin .  Длина  наклонной  равна  75.  Найдите  длину

перпендикуляра.

A) 8
721      B) 2

110      C) 21     D) 72

42. Производные  каких  из  следующих  функций  равны
между собой: xyxyxy 6sin2;3sin;3cos 3

2
2

2
1 

A) 32 ; yy      B) 21; yy      C) 31; yy      D) 32;1 ; yyy

43. Во сколько раз увеличится объем цилиндра, если радиус
его основания увеличить в 2 раза.
A) 6     B) 2     C) 3     D) 4

44. Вычислите 45813 · 45816 – 45812 · 45815.
A) 91628     B) 137446     C) 81628     D) 241586

45. Решите уравнение 4824  xxxx
A) 4     B) 4      C) 2     D) 2

46. Материальная  точка  движется  прямолинейно  согласно

закону    234

2
3

3
2

12
1 ttttS  .  В  какой  момент  времени

ее ускорение будет наибольшим?
A) 1,5     B) 3     C) 2,5     D) 2

47. Среднее  арифметическое  трех  чисел  равно  30,  а  первых
двух 25. Найдите третье число.
A) 40     B) 44     C) 38     D) 45

48. Вычислите 032227cos  .

A) 
2

22       B) 
4

22 

C) 
2

22       D) 
4

22 

49. Укажите наибольше среди следующих чисел:
A) 6log33      B) 9log18log 22 

C) 2
13169log      D) 4lg25lg 

50. Вычислите dtee
t

t 














3ln

0

22

A) 
3
12       B) 

3
26       C) 

3
22       D) 

3
22 

51. Найдите  значение  выражения:      11 11   ba ,  если

 
 






123
123

b
иa

A) 3      B) 
3
1

     C) 
3
2

     D) 0,5

52. Стороны  треугольника  соответственно  равны  4;  5  и  6.
Найдите косинус угла, лежащего против стороны, равной
5.

A) 8
1      B) 8

7      C) 16
7      D) 16

9

53. Какие из функций являются четными?

21

xx aay


 ;
1
1

2



 x

x

a
ay ;

13 
 xa

xy ;
1
1

4



 x

x

a
axy .

A) y1; y4     B) y2     C) y1; y2     D) y1

54. Один  корень  уравнения  2x2  –  7x  +  c  =  0  равен  0,5.
Найдите второй корень.
A) 0     B) 3     C) 6,5     D) 4

55. При  каких  значениях  a  и  b  система  уравнений








65,4
32

yax
byx

 имеет бесконечно много решений?
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A) 4;3  ba      B) 4;3  ba

C) 4;3  ba      D) 4;3  ba

56. Какая фигура будет отображаться на чёрном фоне экрана
после  выполнения  следующего  фрагмента  программы,
записанного  на  языке  Паскаль?  Setcolor(15);  Line
(10,10,100,100) Setcolor(15); Line(100,100,10,10)
A) Четырёхугольник     B) Угол
C) Ничего     D) Отрезок

57. Чему  будет  равен  результат  данного  выражения  в
десятичной системе счисления?
122(4)+ 125(16)— 223(8)

A) 169     B) 170     C) 171     D) 172

58. MS  Excel.  Определите  результат  данной  формулы:
=ЦЕЛОЕ(-6,985)+МАКС( 15;30;3)
A) 25     B) 22     C) 23     D) 24

59. Какая фигура будет отображаться на чёрном фоне экрана
после  выполнения  следующего  фрагмента  программы,
записанного на языке Паскаль?
Setcolor(15); Line(10,10,100,100); Line(120,120,10,10)

A) ничего     B) четырёхугольник
C) угол     D) отрезок

60. Вычислите  выражение  и  укажите  ответ  в  16-ричной
системе счисления.
100101 1(2)• 4(10)+ 234 (8)

A) ЕВ     B) 1С9     C) 1С8     D) 1СА

INGLIZ TILI

61. The authorities will make him pay all his debts. He … pay
all his debts.
A) was made to     B) will be made to
C) will be made     D) is going to be

62. Choose  the  answer  which  correctly  completes  the
sentence.
Maksud said: “I don’t know what Rano is doing”.  Maksud
said that … .
A) he didn’t know what was Rano is doing
B) he doen’t know what Rano was doing
C) he didn’t know what Rano was doing
D) he doesn’t know what Rano is doing

63. Choose  the  answer  which  correctly  completes  the
sentence.
The brain is ... a very powerful, very complicated computer.
A) alike     B) look like     C) liked     D) like

64. Choose  the  answer  which  correctly  completes  the
sentence. 
Food, water, and ... are intrinsic human needs.
A) sleepily     B) sleepy     C) sleep     D) asleep

65. Choose  the  answer  which  correctly  completes  the
sentence.
Look at all the people standing in line to get into that
movie. It … be a good movie.
A) ought     B) can     C) have to     D) must

66. Choose  the  answer  which  correctly  completes  the
sentence.

If  she  …  a  lawyer,  as  her  parents  wished,  she  …  a  large
salary.
A) had become / would have earned
B) would have become /had earned
C) becomes / would earn
D) will become / earns

67. Choose  the  answer  which  correctly  completes  the
sentence. 
I don't play hockey, but I like to watch others ....
A) to play     B) will play
C) are playing     D) play

68. Choose  the  answer  which  correctly  completes  the
sentence. 
Because he grew up in the middle of London, he was
fourteen 
years old before he ever saw a cow ... than in pictures.
A) others     B) other
C) the other     D) another

69. The kids suggested … a pizza to night. What do you think?
A) getting     B) to get
C) will get     D) for getting

70. By the time the teacher arrived, the classroom was empty :
the students …
A) have left     B) were leaving
C) left     D) had left

71. Choose  the  answer  which  correctly  completes  the
sentence. 
... developed they are, all countries depend on one another
to a 
greater or lesser extent and in different ways.
A) Although     B) Despite
C) In order to     D) However

72. … life is going to be … little easier  in … economic terms.
A) -/-/-     B) the/a/-     C) -/a/-     D) -/a/the

73. Choose  the  answer  which  correctly  completes  the
sentence. 
... of the shops in this street is open after 11 p.m., but
there's hardly ... on the street at that time anyway.
A) None/anyone     B) Neither/everything
C) Some/no one     D) Any/someone

74. Choose  the  answer  which  correctly  completes  the
sentence. 
After World War I, Germany was required to pay
reparations to her former enemies, … sent its economy into
total ruin.
A) whom     B) whose     C) which     D) what

75. Choose  the  answer  which  correctly  completes   the
sentence. 
The salesman spoke so persuasively that he ... me ...
completely, 
and now I am stuck with a car that doesn't run.
A) brought/up     B) put/away
C) took/in     D) wore/out

76. Choose the correct answer.
I have been busy at home and have hardly had … contact
with the outside world.
A) any     B) several     C) some     D) that

77. Choose the answer which correctly completes the sentence
I insisted on holding the children's hands … the path looked
steep and dangerous.
A) although     B) however     C) as     D) despite

78. Choose  the  answer  which  correctly  completes  the
sentence.

We really appreciated being picked up from the airport,  but
my wife was terrified by the chauffeur's  awful  driving and,
frankly, … .
A) we weren't though     B) so was I
C) she did too     D) she wasn't either

Read and then choose the correct answer to questions
79-81. 
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A fire extinguisher, even a small one, located near the
kitchen is a 
wise investment. But be sure that the extinguisher is rated
to put out kitchen fires. What the extinguisher is designed
to do is stated on the outside. Rather than bother trying to
determine which one is best for 
you, just get an extinguisher that is rated to control all
three primary 
types of fires: (79) ordinary combustibles such as paper and
wood; 
(80) flammable liquids, such as fat, gasoline and grease; and
(81) electric fires. Read the directions carefully. Teach
everyone in the family how to operate the extinguisher, and
do not buy one that is too 
heavy for a child of nine or ten to lift. 

79.  We learn from the passage that ... .
A) not all extinguishers are useful in all types of fires
B) a large extinguisher is more effective than a small one
C) fire extinguishers can be very expensive
D) it is best to keep the extinguisher in the kitchen

80. The  author  advises  people  wanting  to  buy  an
extinguisher for 
      kitchen fires to purchase one ....
A) that comes with a full set of instructions
B)  that  is  based  on  whether  they  have  an  electric  or  gas
cooker
C) that can put out the main types of fire
D) that displays its functions on the outside

81. Choose  the  answer  which  correctly  completes  the
sentence. 
However, there are still some optimists who never ... hope.
A) give up     B) run into
C) bring up     D) give in

Read the text. Then choose the correct answer to
questions 82-84.
In 1948 in an effort to stabilize the currency, the Chinese
government announced the issue of a new form of currency,
called the Gold Yuan Certificate. This measure was
necessary because the people had lost all confidence in the
old currency, called the Fa Bi. Inflation had escalated to the
point where one US dollar was worth 11 million Fa Bi.
Official announcements called for all Chinese to turn in
their old banknotes, their gold and silver and their foreign
currency. Gold Yuan Certificates would be given in
exchange, supposedly backed by gold and each worth four to
one American dollar. Immediately there was a gold rush, as
most private depositors withdrew their precious metals and
foreign currency from local banks, because no one with
common sense believed that there was any gold to back
those certificates.

82.  The writer states that the Chinese government had to issue
the Gold Yuan Certificates … .
A)  in  response  to  people  and  banks  hoarding  foreign
currency
B) because the people had lost faith in the old currency
C) after the supply of the Fa Bi dropped to an all - time low
D) owing to financial pressure from American bankers

83. We learn that the Gold Yuan Certificates … .
A)  represented  gold  actually  held  by  the  Chinese
government
B) could be readily exchanged for American dollars at most
banks
C) were the invention of the Chinese government's efforts to
combat inflation
D)  were  each  worth  approximately  eleven  million  Chinese
Yuan

84. One may deduce that people rushed to take their valuables
out of the bank … .
A) because they believed the certificates were worthless
B) because banks were going bankrupt

C) in order to buy more gold in the gold rush
D) so that they could buy Gold Yuan Certificates

Read the text. Then choose the correct answer to questions
85-87. 
Questions from 78 to 80 are based on the text below The
International Bank for Reconstruction and Development
(IBRD) known as "the International Bank" or as "the World
Bank", is an agency of the United Nations established In
1945. It has the primary function of making loans available
to assist developing countries . Usually, loans are made to
finance specific project s of investment in underdeveloped
countries; and the Bank will normally make a loan only if it
is satisfied that the investment will yield a revenue
sufficient to enable the payment of Interest on the loan, and
repayment of the sum lent. In 1983 the Bank made loans to
the value of $3,300 million. Thus a sizable amount of
lending is channeled through the Bank, but it is clear that
some projects of great value to underdeveloped countries
cannot be financed in this way, because they would not yield
returns quickly enough or large enough to meet the Bank's
requirements for interest and repayment. 

85.  It  is  pointed out  in  the  passage  that  the  World  Bank  was
founded in order to ... .
A) provide the nations with a constant source of income for
its various projects
B)  give  loans  to  all  the  countries  in  the  world  on  an  equal
basis, regardless of their economic position
C) provide underdeveloped countries in particular, with the
necessary financial support for the realization of their major
development projects
D)  bring  all  developing  countries  up  to  the  same  level  of
economic prosperity

86. We can understand from the passage that  the  World  Bank
will  usually  not  provide  loans  for  investment  projects  in
developing countries unless ... .
A) these countries are in a position to finance a good part of
these projects
B)  these  projects  arc  indeed  of  vital  importance  for  the
industrialization of these countries
C)  It  is  absolutely  certain  that  the  money  lent  will  be
returned in full and with interest
D) it has been unanimously approved by the United Nations

87. The passage gives a general account of ... .
A)  why the  World  Bank  has  relaxed  its  traditionally  strict
loan policies in favor of developing countries
B)  the  main  funding policy  followed  by  the  World  Bank  in
relation to underdeveloped countries
C)  the  ways  and  means  by  which  the  World  Bank  has
influenced developing countries
D) how the World Bank was founded and has been financed
by the United Nations

Read and then choose the correct answer to questions
88-90. 
Like so many other materials in Japan, paper too has come
in for 
many hundreds of years of artistic consideration. At one
period of the country's history, the paper on which a poem
was written was as important as the poem itself. A
thousand years ago there were whole towns actively
engaged in making paper. Such towns still exist, but there
were also many farming villages which then, as they do
today, made paper to earn extra income during the winter.
At present , about half of Japan's farmers must add to their
incomes with winter jobs. Although a large amount of
winter employment is provided by construction companies,
some farmers continue to work at such cottage industries as
paper-making. 

88.  It  is  obvious  from  the  passage  that  the  art  of  a  paper-
making 
      in Japan ...
A) has a long history.
B) was of no economic value at all in the past.
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C) was such a trivial work.
D) has disappeared owing to industrialization.

89. The  passage  emphasizes  that  approximately  fifty  per
cent of  
       the farming population in Japan ...
A) engages in a secondary occupation in the winter.
B) prefers town life to village life.
C) plans to give up farming and go into construction work.
D) is not satisfied with current farming policies.

90. It is suggested that paper-making ...
A)  has  never  been  a  significant  commercial  interest  in
Japan.
B) is still one of Japan's cottage industries.
C) encouraged the development of poetry in Japan.
D) has seldom been regarded as an art by the Japanese.
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